Non-deterministic algorithm (solution) A(I) for a decision problem "P(I)?"

1. Given an instance i of input I, "guess" string s.

2. Given an instance i of input I and s, determine if s is a witness of "The answer to P(I)? is YES".

3. If step 2 (above) ended with the positive determination, output "YES" and stop. Otherwise, stop.

Extra condition not mentioned in the text.

4. For every valid instance i of the input I for the problem P(I),

A(i) outputs "YES" if, and only if, "YES" is the correct answer to the instance "P(i)?" of the problem "P(I)?".  

